(3) 5/16-18 BOLTS
5/16-18 U-BOLT (3) 5/16 SPLIT LOCK WASHERS
U-BOLT SADDLE PLASTIC TUBE CAP (1) ADAPTER RING, CAST 356 AL
(2) 5/16 KEPS NUT (1) MOUNTING RING (SUPPLIED BY
TYPICAL (4) CLAMPS LIGHT MFR.)

(1)RUBBER SEAL

SWIVEL

CAST 354 TYPICAL (5) MOUNTS

ALUMINUM UPPER ARM

CAST 356 ALUMINUM

(2) BAND & BUCKLES
304 SS (BANDS)
316 SS (BUCKLES)

5/16-18 STUD

KEPS NUT

UPPER RETAINING RING
RUBBER SEAL

CLAMP SADDLE
CAST 356 ALUMINUM

(2) 3/8-16 BOLT

(2) 3/8-16 BOLT
(2) WASHER
(2) SPLIT LOCK WASHER

EXTRUDED ALUMINUM POLE

LOWER ARM
CAST 356 ALUMINUM

ALUMINUM COVER PLATE
1/4-20 TRUSS HEAD SCREW
TYPICAL (2) LOCATIONS

PART NUMBER

$S-SB29-3MCB-46
POLE LENGTHS AVAILABLE - —

18", 24", 37", 46", 60", 74", 96", 120" BAND LENGTH |
TUBE LENGTH

BAND LENGTH MAST ARM DIA.
29" 2"-7" THE INFORMATION CONTAINED IN S .
THIS DRAWING IS THE SOLE B
42" g -11" PROPERTY OF SKYBRACKET. ANY al%
. TITLE
APPROVALS BY DATE 3M STANDARD
CLUSTER
NOTES: DRAWN TRC 6/10/11 (BAND CLAMP)
1. STAINLESS STEEL HARDWARE. SALES S —
2. AVAILABLE WITH CABLE STYLE CLAMP. . S SB0OAMCB-AG

DO NOT SCALE DRAWING SCALE: NTS CAD  FILE: $5-5829-3MCB-46 SHEET  10OF1



	Sheet1
	Drawing View1


